
A

C

1

6

3

7

13

15

11

14
5

12

2

9

8

10

4

DETAIL A
SCALE 2 : 3.5

18

17

DETAIL C
SCALE 1 : 1

16

This clip goes in from
 under the table to lock crank

ITEM 
NO. PART NUMBER DESCRIPTION ProductID QTY.

1 HB-34-076-T Table top 1400x900mm 1

2 Serrated T-Nut 
M8x17mm  Serrated T-Nut 8x17mm,raw ba952704 4

3 H-34-068-T Bo dining table crossbar 
against top plate. 2

4 Pan Head Screw 
4,5x40 Zn

 Pan Head Screw 
4.5x40mm,Zn ba950209 8

5 Cylinder head bolt 
M6x90

Cylinder Head Bolt 
M6x90mm ,yZn. BA950309 ba950309 8

6 H-34-065-A Bo adjustable dining table T-
leg 15348008 1

7 Threaded Bush M8 Threaded Bush  M8 Zn ba951207 4

8 Hexagon Nut M8 Pleksor 2194303003, M8, 
DIN439,Zn ba950412 4

9
Adjustable screw , 
M8x22mm, Ø28mm, 
Black 

Adjustable screw, M8x20mm, 
Ø28mm Black ba760087 4

10 Bolt for HBC backrest M8x42mm ba950503 2

11 Height adjustable 
mechanism A-1000

Schlemeier. Bo Height 
adjustable mechanism 
A1000 table to top 1400-1600

1

12 Cross dowel 
M6x10x20

Cross Dowel 6x10x20mm, 
Centre Hole ba950403 8

13 H-34-066-T Bo/Duun table stretcher L-
974 BU15576001 2

14 H-34-065-A Bo adjustable dining table T-
leg 15348008 1

15
Crank height 
adjustable 
mechanism

Schlemeier, Crank height 
adjustable mechanism 1

16 steel clip for crank 
height adj.mech. 1

17 Pan Head Screw 
Ø4,5x20

 Pan Head Screw 
4.5x20mm,Zn ba950207 4

18 Cylinder Head Bolt 
M8x40

 K6S Cylinder head Bolt, 
M8x40 Zn ba950721 4

Öyvind.T

Date approved: Date created:

Approved by:

Sheet format/size: Scale: Units:

Weight in grams: Material:

Description: Part number/name: Revision:

Last saved by:

Last saved:

Config name:

Tolerance:

Drawn by:

DIMENSION IN MILLIMETERS
EUROPEAN PROJECTION

HB-34-064-A

Uustalu.U

1:10 mmA2

01/07/2022

16/01/2024

Bo height adjustable dining table 
complete assembly

HAPVAL,NÕMME KÜLA
HAAPSALU LÄÄNEMAA

90439 EESTI

THIS DRAWING IS THE PROPERTY OF HELLAND 
BALTIC OÜ AND MUST NOT BE COPIED OR USED 

WITHOUT OUR APPROVAL
Product ID:

04.07.2022.

table top 
1400x900x22

+/-0,3mm


	Sheet1
	Drawing View1
	Detail View A (2 : 3.5)
	Detail View C (1 : 1)


